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* Please check that this question paper contains 15 printed pages.

* Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

* Please check that this question paper contains 29 questions.

* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this
period.
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T G, 1-3 3N 15-19 AT 597 81 FedF & 1o1w 1 3% e

.

8/ TF 7 I 0 T 7 347 741 81

4. ¥ H. 4-8 3N 20-22 TR T & [0 FAF & o0 3 3HF
1741R & | G I FT IR 60 1531  3719% 7 8 |

5. FEd. 9-10 3K 23-25 At TR 397 & 978 9% @ 70 4 3%
1Aeffe & | 7 3 It G170 Y157l @ 316 7 57 /

6. TG 11-14 3K 26-29 HHIT T97 & 91K 378 G9F F [T 6
3% REiRa &1 379 Yo% & IR Gl 100 Y1e5] @ 371 7 81 |

7. I T R [AVIHEY & 79T FIrHa IWT @ forg [k wrea-
HIT F7 STTTF €Y & YIT 13597 7Y |

Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-3 and 15-19 are very short answer questions
carrying 1 mark each. They are required to be answered in one
sentence.

4.  Question No. 4-8 and 20-22 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60
words each.

5. Question No. 9-10 and 23-25 are also short answer questions
carrying 4 marks each. Answers to them should not normally
exceed 70 words each.

6. Question No. 11-14 and 26-29 are long answer questions
carrying 6 marks each. Answers to them should not normally
exceed 100 words each.

7. Answer should be brief and to the point and the above word limit
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be adhered to as far as possible.
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s A
SECTION A
1. & 3udRE 6 o7 et B @ ufean awg & Fima-ai1 9% T I8 g9 gl

2 (udt faered gfu) 1
(a) =t TR fagerar® |
(b) =Tt oTR Rawerar 2 |
(c) T sk T FHIT hl 37T T BT 2 |
(d) | as® WA= Y 3R T Bar 2 |

When income of the consumer falls the impact on price-demand curve of

an inferior good is : (choose the correct alternative)
(a) Shifts to the right.

(b) Shifts to the left.

(c) There is upward movement along the curve.

(d) There is downward movement along the curve.

2. 3fe Himia wioeemm & R fer ', 9t sHftmm 3% « (T fase gf) 1
(a) x-3T1& & UM &I
(b) =Y 3R g4t sraae B |
(¢) T &Y iR Terat Ioa B |
(d) F= F A gat def @ aEm |

If Marginal Rate of Substitution is constant throughout, the Indifference
curve will be : (choose the correct alternative)

(a) Parallel to the x-axis.

(b) Downward sloping concave.

(c) Downward sloping convex.

(d) Downward sloping straight line.
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3. oere Be Y gitarsy difsie |
Define Budget Set.

4. T YE R T s a1 1 stoferawen & Ieqted HareT
Tk T FIT YT TSI 3R = ?

HIAT

a1 AT § et dSft % et ST W srdfeaTe % IeuTed HTEAT 95 W
TS T hl THTEAT & 3T i ?

-

What will be the impact of recently launched ‘Clean India Mission’
(Swachh Bharat Mission) on the Production Possibilities curve of the

economy and why?

Or
What will likely be the impact of large scale outflow of foreign capital

on Production Possibilities curve of the economy and why?

5. U USRI A HH1 1 qeeqr fsiar fasrydr gagmu |

Explain the feature ‘interdependence of firms’ in an oligopoly market.
6. 'IAqH g € Ui & Rl g % IR W S a1 YT TSR |
© @t w1 39T i |

Explain the effects of ‘maximum price ceiling’ on the market of a good?

Use diagram.

e gie At udrernioEi o forg wge S 6 % T W)
ShiTa a1 & w1 AT 2 ? Aferehay dhima g Fei & g9 Jmeni’ |
For the blind candidates only in lieu of Q. No. 6.

What is price ceiling? Explain the effects of maximum price ceiling.

58/1/3 %
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7. U T A 1 hWd Fi @ % w1 F01-f0g (minus sign) 21 26T 2
<&t foh shiHa qfd @< o w1 99 -T% (plus sign) | THET @41 ? 3

The measure of price elasticity of demand of a normal good carries
minus sign while price elasticity of supply carries plus sign. Explain
why?

8. U Fard gu Fefafiaa aifosn W snatf@ seared dvmEdt 9% & SR W

Teuft Shifere - 3
a5 X (397%) &g Y (3T
0 20
1 18
2 14
3 8
4 0

Giving reason comment on the shape of the Production Possibilities

curve based on the following schedule :

58/1/3

Good X (units) Good Y (units)
0 20
1 18
2 14
3 8
4 0
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9. T INIH T a%g W Rrehi fimd 4 5. ufd 36 R, 100 & = F@T R |
S& #md 50 ufawra e St 2 a1 oft 98 9% W 100 %. € =9 Har 2 |
wferera fafer gra dima -9t & 3ma <hifs |

A consumer spends Rs. 100 on a good priced at Rs. 4 per unit. When
price falls by 50 per cent, the consumer continues to spend Rs. 100 on

the good. Calculate price elasticity of demand by percentage method.

10. &vra < ufeyrer S| digiq @ R oftea afad] are & St g9y
FAT3T |

HYar

HyTHH (31w 1 afare i | Hafa anfh 3R ftaa gfy & 9 d@ey
AT |

Define cost. State the relation between marginal cost and average

variable cost.
Or

Define revenue. State the relation between marginal revenue and

average revenue.

11. uftad! sgurdt & o § a1 3oure 3 Hmia 3came | 8 ardt aitEaHl
ferforer =0T STRT | 3 ok # Yt | o Ramw |

State the different phases of changes in Total Product and Marginal
Product in the Law of Variable Proportions. Also show the same in a

single diagram.

haet ZiE anfera adternierat o fore wom |t 11 % FE W |
U AT IATEA o TR W aiad! sigamdt & fFm § $a I @ik

HHTd 3caTe | B4 It fafsTe <o s|msu |
58/1/3 6
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For the blind candidates in lieu of Q. No. 11 only.
State, on the basis of a numerical example, different phases of
changes in Total Product and Marginal Product in the Law of Variable

Proportions.

12. U 9% 1 AR Gged | @ | a5 i gfd & ‘Fhg’ &1 91t 2 | 39 ufEda &
0T B T THTET shl AT THTET | ' 6
Market for a good is in equilibrium. Supply of the good ‘increases’.
Explain the chain of effects of this change.

13. T IUHRAT hadl & FEGet X 3R Y T UG HAT 2 | I shl SR HHd
3 %. gfd 3 B | AR IudihT 39 Q Sxqaeli & TH HA AT GG HLT 2
foraeht wmia afoeemom 2t 3 2, Y & IusIhT Tge | 2 7 i difse | o
feafa & wan forareht 3usiiehT R M ? FHEET | 6

HYAT

T IUHRE had & aEgell X 3R Y H 399 Far @ SR Fma
FUI: 4%, 3 S . Ufd 31 2 | AT IJUIRAT QI aeqatl ol UHT A1 A1
? i X &t dmfa swifiar 5 ot Y fft diniq swifian 4 2, @ =0
YR S | & 7 FRon e | vt feufa | v faaedht 3uaieer 9o e
IuIfiaT foveryor &7 U I |

A consumer consumes only two goods X and Y both priced at Rs. 3 per
unit. If the consumer chooses a combination of these two goods with
Marginal Rate of Substitution equal to 3, is the consumer in
equilibrium? Give reasons. What will a rational consumer do in this
situation? Explain.

Or

58/1/3 7 [P.T.O.
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A consumer consumes only two goods X and Y whose prices are Rs; 4
and Rs. 5 per unit respectively. If the consumer chooses a combination
of the two goods with marginal utility of X equal to 5 and that of Y
equal to 4, is the consumer in equilibrium? Give reasons. What will a

rational consumer do in this situation? Use utility analysis.

w1 et wH <t Tge 1 fufs & foe dwia o it diafa gwfy
(HATH) | FHEA A 2 7 1 AE T GHTad i % foe waiw 2 7
TR |

Why is the equality between marginal cost and marginal revenue
necessary for a firm to be in equilibrium? Is it sufficient to ensure

equilibrium? Explain.

@ s d
SECTION B
15. 319 914 Ydaq &4 W, afe e 2w # fageht g1 & Fma sed @ 9 559
T 31T (W farehen i)
(a) T gfg 6 FaTeHT Bl 8
(b) Fire <6 G et 2
(c) Ifg e 3 T ST Hemmaad et 8
(d) T HE 9 T B
58/1/3 - 8
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Other things remaining unchanged, when in a country the price of
foreign currency rises, national income is : (choose the correct

alternative)

(a) Likely to rise

(b) Likely to fall

(c) Likely to rise and fall both

(d) Not affected

16. TERI a5 | w0 @ iy : (e fawea gi) 1
(a) TSI 91T
(b) TSN =TT
(c) Smefireh e
(d) =T H =men
Borrowing in government budget is : (choose the correct alternative)

(a) Revenue deficit
(b) Fiscal deficit
(c) Primary deficit

(d) Deficit in taxes

17. F=fafaa 8 R 7o 98 2 - (9 fashen giw) 1
(a) Tarfa e

(b) 3ATITG Y[k
(c) @I

(d) 3cqTEH I[e<h
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The non-tax revenue in the following is : (choose the correct alternative)
(a) Export duty

(b) Import duty

(c) Dividends

(d) Excise

18. ufy v ¥ “gmw smufd @ W aRmmE R 7

What is ‘aggregate supply’ in macroeconomics?

19. T 1 4o 78 BT B« (TEh few gfiv)
1
Hmfa 3T gt
®) mwma;auqﬁr
1
© |- Hmiq s=d gt

(a)

) :
Hmia S99 g —1

The value of multiplier is : (choose the correct alternative)
(a)
(b)

(©)

(d)

58/1/3 10
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20. T % 3 foga M & AW a1y ST P Hqed o & Gt orar
o &St fohT ST R | 3
roran
T & A fowga ot & A9 FaEe et Jrae SeH o % = dar
# oot fora STan 2 |

Name the broad categories of transactions recorded in the ‘capital

account’ of the Balance of Payments Accounts.

Or

Name the broad categories of transactions recorded in the ‘current

account’ of the Balance of Payments Accounts.

21. foagent A wef9 =T AW GgeH @i B #El @S fRE STOm ? @O
AT | 3

Where will sale of machinery to abroad be recorded in the Balance of

Payments Accounts? Give reasons.

22. 3fe arafass e 23fiF 3dTE 300 %. B 3T fifgs et 23 3a0TE 330 .
Bt Siud gl (STTUR = 100) T HIT | 3

If the Real GDP is Rs. 300 and Nominal GDP is Rs. 330, calculate Price
Index (base = 100).

23. T & H 9N GRR 3 SH-99 QST e S 32w @ R uls
9fE 1 &H @ &9 Tk ok Qa1 8l | GHETET foh 39 A1 & 3Tariq ot i
STTE <971 <At TERT T Rt K qaTfaa shirft | 4
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Government of India has recently launched ‘Jan-Dhan Yojna’ aimed at
every household in the country to have at least one bank account.
Explain how deposits made under the plan are going to affect national

income of the country.

T refatyn oge | ¢ | frefefaa @ Hata sus st g i
T A™ = 2000
A 399 = 400

e = =200

An economy is in equilibrium. Find Marginal Propensity to Consume

from the following :
National income = 2000
Autonomous consumption = 400

Investment expenditure = 200

Rl S I SRl sSoh T GHTIT |
gat

ST ek T GLHR F1 Sk w1 THITET |

" Explain the ‘bank of issue’ function of the central bank.

Or

Explain ‘Government’s Bank’ function of central bank.

Thifaerrl S7at ol STTURIN THIET | TS FH FH H IFEIE X (Repo
Rate) 31 sfHehT shl STEAT I |

AT
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HUEHIfqepTl 37T sl FFURON FHHATRY 3TN 38 F0 FH § G IR & |

FRiwaTdl < Jfirht it saTE Hife |

Explain the concept of Inflationary Gap. Explain the role of Repo Rate

in reducing this gap.
Or

Explain the concept of Deflationary Gap and the role of ‘Open Market

Operations’ in reducing this gap.

IIe % AT § GEIGH o AEeA HI TG A § TLHR hl Jfieht it
T HIfT |

Explain the role the government can play through the budget in

influencing allocation of resources.

U FATG BT FHATEY, Toh T 1 1 9T A ° Ffaiaa % e w®an
er feman ST =nee -

(i) HH T STEE STHISeE hl FIF < WY

(i) %9 3T T R T T

(iii) %9 g G 39 % o0 B9 F1 F

Giving reason explain how should the following be treated in estimation

of national income :
(1) Expenditure by a firm on payment of fees to a chartered accountant
(i) Payment of corporate tax by a firm

(iii) Purchase of refrigerator by a firm for own use

58/1/3 13
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29. ‘Tred ard W fad s 37’ au geha TP YAIST IR Fd Hhifog ;

(g %.)
(i) | forgert =t Frae =], gxaiaTr 15
(ii) | =it 3tfc Sasim == 800
(iii) | faret stmmd (-) 20
(iv) | Free efta it fmfor 100
(v) | forett =t Foraret e o1 10
(Vi) | 3 B 50
(vii) | €2k § uftadH 17
(viil) | Y& AT 120
(ix) | Feert 3ifaw Suvm == 200
(x) | fria 30

58/1/3 14
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Calculate ‘Net Domestic Product at Factor Cost’ and ‘Gross National

Disposable Income’ :

(Rs. crores)
(1) | Net current transfers to abroad 15
(i1) | Private final consumption expenditure 800
(iii) | Net imports (-)20
(iv) | Net domestic capital formation 100
(v) | Net factor income to abroad 10
(vi) | Depreciation 50
(vii) | Change in stocks 17
(viii) | Net indirect tax 120
(ix) | Government final consumption expenditure 200
(x) | Exports 30
58/1/3 IS
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